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	Solids Measurements
	Lab group members:

	Group:
	

	Section (day):
	

	Date:
	


Sample Identification Table

	Sample ID 
	Description of Sample

	
	

	
	

	
	

	
	


Turbidity

	Sample

ID
	Turbidity 

of Sample

(NTU)
	Turbidity

of Filtrate

(NTU)
	Percent of Turbidity Removed by Filtering (%)

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	


Total and Volatile Suspended Solids

	Sample

ID
	Boat 

ID
	Mass of Clean Filter and Boat (g)
	Mass of Filter, Boat, and Solids after drying (g)
	Mass of Filter, Boat, and Solids after combustion (g)

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	


	Sample

ID


	Volume of Sample Filtered (mL)
	Total Suspended Solids 

 (mg/L)
	Volatile Suspended Solids 

(mg/L)
	VSS/TSS ratio 

(expressed as %)

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	



Statistical Analysis -- TSS Results (mg/L)

	Sample ID (
	
	
	
	

	Group A
	
	
	
	

	Group B
	
	
	
	

	Group C
	
	
	
	

	Group D
	
	
	
	

	Group E
	
	
	
	

	Group F
	
	
	
	

	Mean
	
	
	
	

	Standard Deviation
	
	
	
	

	COV (%)
	
	
	
	


Statistical Analysis – Mass of 25 mL of water

	
	Mass of water (g)
	
	
	My Group Data

	Group A
	
	
	Mass of empty beaker (g)
	

	Group B
	
	
	Mass of filled beaker (g)
	

	Group C
	
	
	Mass of water (g)
	

	Group D
	
	
	
	

	Group E
	
	
	
	

	Group F
	
	
	
	

	Mean
	
	
	
	

	Standard Deviation
	
	
	
	

	COV
	
	
	
	


Discussion Questions (Please answer on a separate sheet.)

1. Do your lab results make sense?  Explain why or why not.  For instance, are the relative TSS and VSS values what you expected?  Why did you expect the TSS and VSS values you did?  Think about the sources of the water samples tested, and the nature of the particles in each.
2. The drinking water standards don't allow any suspended solids but do allow a maximum turbidity of 0.5 NTU.  Is it possible to have turbidity but not TSS?  If not, explain why not; if so, describe what is causing the turbidity and why it doesn't register as TSS. 

3.  Looking at the statistical description of these data, would you conclude that TSS is a very precise test?  Why or why not?

4.  A teaspoon of salt (6.5 g) and a half teaspoon of ground basil (3.0 g) are added to a cup of hot water (250 mL).  The salt dissolves, though the basil does not.  Calculate the total solids (TS), total suspended solids (TSS), volatile suspended solids (VSS), and total volatile solids (VS).  Using the definitions of these measures, explain why you performed the calculations as you did.

Memo Problem

Imagine that you are a geotechnical engineer working at a construction site.  The project involves a deep excavation for underground parking.  The hole is so deep that it intercepts the local water table and groundwater is seeping into the construction site.  Your plan is to install pumps to remove the water and discharge it into local storm drain system.  The city requires that you reduce the TSS by 90% before discharging the water to its system.  One option is to rent a tank to act as a settling basin.  At the flow you propose (80 gpm) the rental company applications engineer says that a 5,000-gallon tank will give you the needed degree of treatment as long as you don't fill it with more than 2000 gallons of sediment.  If you exceed this amount, the flow will start washing out some of the settled solids.  The construction schedule requires dewatering for 12 weeks.  You don’t have room for two tanks at the site, and you can’t replace the tank during the dewatering period because the site would flood.  Consequently, you want to be sure the 5000-gallon tank will hold the anticipated mass of sediment.  (If it won’t, you’ll want to order a larger tank.)  Will the 5000-gallon tank be adequate?  How sure are you of your answer?  Attach your calculations to your memo. 

Attach a page showing sample calculations for every different type of calculation!
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